pes g 0 20184 01€ 01¥+H
20184 128 317X

oy | sazzs Eax e 29
2018-01-25 | XIGAE o3 Exg HIXH £H2 10,000
2018-01-25 | XIYAte £F 2 HIXH 223 10,000
2018-02-24 | RIHAlE| 2 23 HIX|H 213 10,000
2018-02-25 | XI9AlE FF 2«5 HIXE 22F 10,000
2018-02-26 | XIHAE Foig ke HIXE 23 10,000
2018-03-26 | XIHAts| £F =) HIXY 223 10,000
2018-03-26 | X=AlE =2lF B E HIXIH i3 10,000
2018-03-26 | AAtsl F23 20l HIXE F23 10,000
2018-03-27 | XALs =23 2t HIXIE 223 10,000
2018-04-30 | Xdrts FHF B3 BIX|H F23 10,000
2018-05-03 | RIHAts £2F 210l HIXE Z23 10,000
2018-05-28 | XAtz 23 Ex7 HIXH 23 10,000
2018-05-30 | XAtz 23 0l =&l HiZE TS 20,000
2018-05-31 | AHAts 2 20l HIX|H £ 10,000
2018-06-25 | XAtE FelZ Ex7 Hix|H 223 10,000
2018-06-25 | RIAtsl =23 Ol=2l HIXH 223 20,000
2018-06-25 | X Arts 2eF 2«0l HIXIH F23 10,000
2018-08-01 | XIAtsl =23 E+7 HIX|H S 10,000
2018-08-13 | XAtsl =22 0l=l HIX|H S 20,000
2018-08-13 | XIAle| £33 20l HIX|H 2 10,000
2018-09-20 | XdAtsl 23 U HIXE TS 10,000
2 FAB(EE)TAYAMN

odglel | =2Z B = 2%} Lo . =2 | 2
3.2 Z(FH)ASYHAMAM
AbRR Ab2Lye S A=g|=
2018-10-24 AEZ YT 714 71,600 *ZHA U] (71,6008 x13])
2018-10-24 AEEAW I MAT R FlH| 220,000 =AMAx =z FH|(220,0008 «15])
2018-10-24 AZZUAYIZ ol 2okE T4 55,300 *Q| R OtE F1elH| (55,3008 +15])




2018-10-24 AxZAUZ HUXLEHE 16,000 *O{ AL EHZ (16,0008 +13]) =
2018-10-24 AZZ YT S4H| 110,000 *ZA1H|(110,0008 1 2]) —
2018-10-24 RED QP = RpEAoHods| 15,000 * R} Ay 048] (15,000 «1 &) o
2018-10-24 RNEDAH T ZHAH| 49,000 *Z+AH[(49,0009 1 &) =
2018-10-24 Azzdl = sHEH Ey| 70,000 *»BHE A 88| (10,0008 *7H) =
2018-10-24 RZZQUY X opalH| 80.000 *OFA{H| (80,0009 *1%]) -
2018-10-25 AESYY T SAH] 89,400 *Z4H](89,0008! 1 8]) =
2018-10-25 AEZZYUT HEDS YBE 120,000 ~2 22 (12,0008 *10%) -
2018-10-25 AEBQZT ZHAH] 46,700 *ZHAH] (46,7008 x13]) -
2018-10-25 AERUWE FHH| 40,000 F551(40,0008 +18]) ~
2018-10-31 | A=ZYHZ EHA 0| EH|(FUT-E F) 3,800 *EH 0| EH|(3,8008l+15]) -
2018-10-31 | === EH o EL|(HF-E0i7) 3,400 *EH 0| EH|(3,4002 =1 &) -
2018-12-27 HEE 7ab] 100,934 M ZE T2H((100,9348 13]) =
4 FUF(EB)AISEAMA
A A} AbZuiod ALEH i BEGY Bl
5.7 HFH A F
=287\ 59 ¥ xS _ AH| =t of
e 505-10~176377-6 {,gfgﬁ;ﬁfé 'ET'E;%E




1. FAF(ST) TRAYGAA

ome | =mazzs =5 Lhe =
2018-01-25| XI=ALE =85 =7 EEEEE 10,000
2018-01-25 | XIGALE] 28R 2+ EEESE] 10,000
2018-00-24 | XIAALE Zal= EINE EECE 10,000
2018-02-25 | XISAfE] 83 =7l e 10,000
2018-02-26 | XIHAL3| 22 T EEEEE 10,000
2018-03-26 | XIGALE] 83 B HREEAD 10,000
2018-03-26 | XIGAlE] T o= T e 10,000
2018-03-26 | XISiAlS] 282 20l EEEE 10,000
2018-03-27 | XIS ALE] Zaiz EIpE EERE! 10,000
2018-04-30| AI=ALE F2= R BEEEE, 10,000
2018-05-03 | XISIA 3| £ 21+l EEEEE] 10,000
2018-05-28 | X% AtE] TEI2 =% EEECE 10,000
2018-05-30 | XISAtE| 28T 0+l EEECE 20,000
2018-05-31| XIS ALE| =aia 2+l EEEE] 10,000
2018-06-25 | AIHAIE| T ] MEEEDE! 10,000
2018-06-25 | XIAAIE TS 0l+= EEERE] 20,000
2018-06-25 | XIGIALE] 2213 2i%01 EEECE, 10,000
2018-08-01] XIHAfS Z2i= S EERE! 10,000
2018-08-13 | XIGALE 28T 0«8l BEEEE 20,000
2018-08-13| XIHALE Zoim 210l EEERE! 10,000
2018-00-20 | XIGALE =iz Bl = EEEDE! 10,000
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3. Fag(E

) AFSEAMA

cHe

Aser | AL =k AEIE D
2018-10-24 A= = ZhAIH| 71,600 *ZHAH[ (71,6009 +13]) =
2018-10-24 AEDAM T MAX 2 2olH| 220,000 *MAMTE F2H|(220,0008 1 5]) =
2018-10-24 Az T ol 2okZ o] 55,300 *O| EOFE 10IH|(55 3008 «15]) =
2018-10-24 AZEDQUMET {HAIEEHE 16,000 *OJAHXE S 2 (16,0008 =13]) =
2018-10-24 XZEDQZ T FAH| 110,000 *ZAIH|(110,0009 «13]) -
2018-10-24 AEE M T XF Ao ofH| 15,000 * R 04H( (15,0008 *13]) -
2018-10-24 A= U7 = FHAH| 49,000 *ZHAH| (49,0008 %13]) ~
2018-10-24 AP T SHEH FHy| 70,000 *BHEHEH([ (10,0002 +7H) =
2018-10-24 ALZEEQIZH I QbAlH| 80,000 =0FAH((80,000980 % 13]) =
2018-10-25 APZEE QA T FAH| 89,400 *ZAH| (89,0008 «13]) =
2018-10-25 AMEZAMT glEu] EE 120,000 *2IE2 (12,0008 *108) =
2018-10-25 AZEZD QI T ZHAH| 46,700 *ZHAH| (46,7008 «13]) -
2018-10-25 Az=Del T RG] 40,000 F5H](40,000 %1 3]) =
2018-10-31 | A== T EHO|EH|(SO7-& 3,800 =E 70| EH{(3,80021%13]) -
2018-10-31 | A=ZYH = EA 0| En|(H =-SCi 3,400 *EH 0| EH|(3,4008 *158]) -
2018-12-27 HEE Pl 100,934 «MEE F2/d|(100,934281%135]) =




4. ZAF(EE) ASHAHA
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